
USER'S MANUAL

26680
Typewritten Text

26680
Typewritten Text



Parts List

Accessory

（M6 x 35）

A x 1 B x 2

C x 1

E x 1 F x 1

D x 1

（M4 x 12） （M6 x 12） （M6 x 30） （M6 x 16）

1 x 12 2 x 4 3 x 8 4 x 8 5 x 4

6 x 4 7 x 2 8 x 1

9 x 1 10 x 2

x 2

TOOLS



Step 1

Step 2

C

6

6
6

6

6

x 4

3 x 2

4 x 2

x 2

A

3

3

34

4

4

Pay attention to the direction of  A



Step 3

Step 4

3 x 2

4 x 2

x 2

x 2

3 x 4

4 x 4

5 x 4

D

3
3

4
4

5

3

3

5

4

4

4

4

3

5

5

3



E
Step 5

Step 6 1 x 4

8 x 1

9 x 1

8
1

1

1

9

1

x 1

2 x 4

2

2

2

8
1
1

1

1
9

2



Step 7

Step 8 1

1

1

1

x 8

7

7

x 2

7

7

1

Locked

Unlocked



Step 9

Step 10

F

10

10

x 2

Locked



24/7 CUSTOMER SERVICE
 Please contact us first if you have any problem

we will give you a satisfactory solution more quickly than amazon offical sevice does.
Any replacement like missing or damaged parts, we will ship it ASAP!


	说明书0
	说明书1
	说明书2
	说明书3
	说明书4
	说明书5
	说明书6
	说明书24
	
	说明书0
	说明书1
	说明书2
	说明书3
	说明书4
	说明书5
	说明书6
	说明书24




